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CERTIFICATE IN HOME BASED HEALTH 
r 	 CARE (CHBHC) 

Term-End Examination 

June, 2013 

CNS-HC-001 : HOME BASED CARE 

Time : 3 hours 	 Maximum Marks : 70 

Note : (i) Answer all questions. 
(ii) Attempt all parts of the questions at one place. 

	

1. 	(a) Define the following terms : 	2+2+5+6=15 

• Cross infection 

• Disinfection 

(b) Discuss the process of occurrence of 

infection. 

(c) Explain the general measures to prevent 

infection. 

	

2. 	(a) Define chronic Renal Failure. 	2+2+4+7=15 

(b) List the causes and signs and symptoms of 
chronic renal failure. 

(c) Discuss the care of patient with kidney 
disease and your role as a home based care 

provider. 
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3. (a) Enumerate the purpose for oral medication 

and list the contraindications for it. 	3+7=10 

(b) Discuss the points you will keep in mind as 

a home based care provider while 
administering medicines. 

4. (a) Explain the meaning of Rehabilitative Care. 

(b) Discuss the types of rehabilitative care. 

(c) List the role of care provider in rehabilitation. 
2+6+2=10 

5. 	Write short notes on any four of the following : 

(a) Care of elderly at home 
	 4x5=20 

(b) Importance of monitoring and follow up. 

(c) Explain the First Aid Measures for choking 

(d) Measures to relieve symptoms of depression. 

(e) Steps of healthy eating 

(f) Care of patient with asthma 
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